








1,2- 1,1- -1,2-
1,1,2-
1,3- 11

Im

JIS K 0050
JISK 0101 JISK 0102 JISK 0211 JISK 0215

15 30mm 0.8 1Im

50cm

1,1.1-



)

©

1 5mm
5 25mm

4.2

(%)

1kPa 7.5mmHg

*C)

1000mL

®)



©)

*)

©)

©)

9.3.1

©)

JIS T 3201

()
1.33kPa

30

100mL

200

230 2
JIS K 0050
0.67kPa



©)

©)

(*9)

*

1kPa 7.5mmHg

3
®)
5.1.1
5.1.2
®)
1L 3609
5.1.4
*°)
5.1.1
1 3L )
*?)
40



(%2) 60 80

51.4

51.1

51.4

(*3 100mL/min

*9

(13) (14)

100mL



I+

I+

N DN
o

o

24

48



A A

ooooooo

A A

ooooooo

(a)

A

ooooooo

OOOOOOO

(d)

(©)



1,2- 1,1-

1,1,2-

1,3- 11
im
(1)
JIS K 0050
JISK 0114
(2)
volppm
(3)
24
48
*
(GC-FID)

(GC-ECD)

ELCD) (GC-MS)
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0.1volppm

0.05volppm @)
®) 10 20%
GC—PID(3) GC GC GC GC
10.2eV | 11.7eV -FID -ECD | -ELCD -MS
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(3) GC-PID 10.2eV 11.7eV UV
a) 1mg/mL
*
b) 50u g/mL 20mL
1lmg/mL 1mL 20mL
C) JIS K 8891
d) 99.999vol%
e) 99.999vol%
*
a) ) (®)
1000 L
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1kPa 7.5mmHg
50u g/mL 5p L
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100mL
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50pu g/mL 3p L
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50u g/mL 5pu L 50u g/mL 3u L
volppm volppm
0.065
0.036
1,2- 0.056
1,1- 0.057
-1,2- 0.057
1,1,1- 0.042
1,1,2- 0.042
0.042
0.033
1,3- 0.050
0.043
a) 1kPa 7.5mmHg
b) Img/mL 30up L 1L
c)
d)
10volppm
e) d) 1.0mL 0.01p L
0.0033p L
3 100mL
f) d) 0.5mL 0.005u L
Q) 0.01py L 2 (*?)
h) 3
ML
(*) 0.01p L 2 0.05u L 0.5u L
2 0.01p L
0.05u L 0.5u L 100 L

0.1volppm  0.5volppm  5volppm
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3 100 L
9.2(e) 100 mL | 9.2(f) 100 mL
ML volppm gL volppm
0.0065 0.065
0.0036 0.036
1,2- 0.0056 0.056
1,1- 0.0057 0.057
-1,2- 0.0057 0.057
1,1,1- 0.0042 0.042
1,1,2- 0.0042 0.042
0.0042 0.042
0.0033 0.033
1,3- 0.0050 0.050
0.0043 0.043
volppm
2 3
0.1volppm 0.05volppm
C= (Vc/Vs) x 103
C volppm
Vc (M L)
Vs (mL)
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